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Direction (1-3): Number of male and female members in different
organizations A, B, C, D and E are given in the bar graph.

f=r ar mw ® A, B, C, D 3 E fafu= el o yew 20 ufgen wew=i =t
qeE &t T8 )

Number of Male and Female in diffrent Organizations
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1. What is the ratio of average number of females in all the five

organizations to the average number of males in all the five

organizations?
wuft e "@wel ° ufgensit @t oiftad wEm @t |t wiw el W gwel @ iHd e @
w oo M AT AT i
' SSC CGL 2020

/I—lfg‘ Zm e Number of Male and Female in diffrent Organizations | ‘a) 49 : 51
46 . 4q

- 225 | - oo (C) 49 : 46
i = - (d) 51 : 49

Organizations

g 8 8

Number of Persons
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2. For which organisation, difference between the number of males
and the average number of females of all the organisation is
minimum?

form deam ¥ gEel @ | i wYl_Hrar | ufgenedl @t oftHd e &
e 3faT =ga 872 Avg ) =|_l§9_v(/

SSC CGL 2020

. Nuz:é::(; of Male and Female in dim-en.t Organizations ‘ a, C
= | 275 NI B
2 (c) D
2 (d) A

c 88888 8 &

250

Number of Persons
[wy
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3. What is the ratio of number of males working in organizations

C, D and E taken together to that of females working in

organizations A, B and C taken together?
et C, D 3w E ¥ @rdta ysal &t & 9e&n 307 @ A, B 3w C o s

wfgemadl i HeT @A & e U AT i ;'(%

Number of Male and Female in diffrent Organizations \0 ‘ ‘ SSC CGL 2020

= . (a) 11: 10

\(B710: 11
e (c) 46 : 49
. — 75 » Male (d’ 49 ~ 46
. ¥ Female
_ " N b

Number of Persons
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The given bar graph shows the imports and exports (in crore Rs.)
of streel for S years from 2014 to 2018.

fau war T 2@ 2014 | 2018 @ 5 99 W TEAE Rl A IR fHaiq
(g W) Friar 71
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4. What is the ratio of average export to average import over the
five years?

e Ut ° 3frea aia i 3iEe AT @1 31T AT i
SSC CGL 2020
700 T (a) 109 : 247
(b) 218 : 247
(c) 247 : 109
247 : 218

-
Q\4‘1*: Q\%ﬁ

2014 2015 2016 2017 2018



Cough syrup of three different flavors - A, B and C (in lakh bottles)
manufactured by a medicine company over a period of five years from 2010

to 2014 has been shown in the bar graph.
a7 WE § 2010 ¥ 2014 9 U 99 aht iy § ot gar wu+t gro fafida A, B 3w C

i fi= -fa= @l & &% w3t 9 (S dSi|qa §) 29 T g
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S. The ratio of the average production of all flavors in 2012 to the difference of
the average production of flower(A)in 2012 2013 and 2014 and the average

2012ﬂvﬁm%3ﬁmmm 2012, 20133ﬁ12014ﬁmA%ahammaﬁr
2012, 2013 3 2014 ¥ e C & 3fiHd IAET & 3ia¢ | 37UTa 719 il

SSC CGL 2020

- (a) 26 : 15
o\ (b) 15 : 26
70 @
60 e — ﬁ - \'(9,/1 3
=050 (d) 3:11
50 . a5
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Medicines of three different flavors - A, B and C (in lakh bottles)

manufactured by a pharmaceutical company over a period of five

years from 2010 to 2014 is given in the bar graph.
2010 ¥ 2014 9 Uil 99 @i oraiy W fadtr afmasfim wu+t g ffq A, B 3w C &=

fa=r-fa= @rel (weaT ) arelt et & °rET (ST 9|e o) 97 R W g9iE e 2

90

Production (in lakh bottles)
N Q@ 8 v & N ®
e 0O e © © O
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6. Production of flavor A in 2012 is what percent less than the
average production of flavor B in all the years (correct to 2

decimal places)?
2012 § w@1E A 1 IS Wt 6t § @ (wat) B @aimd s 9 fear wihem @
27 (IvmerE ) & I T qe Hal 50. 53
- 3X100 /. SSC CGL 2020
- 8o S3 (a) 3.87
- ™ (b) 6,98
60 c)S5.66
50 - eriavora | (d) 4.66
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§ N
4
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400 Direction (7-9): The bar graph
s years from 2014 to 2018.
=1 9 W% 2014 ¥ 2018 9 5 99

% ' I shows the number of students
i I I & 3N A 3T B TR o famm=

enrolled for a science course in
institutes A and B during S

2015 :3:: 2017 2018 % m .ﬁ ﬁ. ﬁ
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7. What is the ratio of the total numbers of students enrolled in
institutes B in 2015 and 2017 to that of students enrolled in

institute A_in 201 1
2015 3 2017 ® Wt B ¥ wmwifea B &t et 9@ 31X 2014 31X 2016

o dear A ° AifeRd BTN il sl W&AT Rl 14T AT il

460  SSC CGL 2020
"63?,,:‘4(32 (a) 92 : 137
(b) 91 : 111

(c) 111 : 81
"institute A 37 . 92

® Institute B

2016
Years
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8.

A

8‘)\‘1,“,[3

The total number of students enrolled in institute B during 2014,

2016 and 2018 is what percent of the total number of students
enrolled in institute A during the five Years?

2014, 2016 31T 2018 & I T B o Wifera B &t &t |E&AT, W

aﬁ%a*rmmmAﬁwmﬁmma&mmmﬁmmuﬁm%?

SSC CGL 2020
(a) 49%

66%
(c) S7%
i I = Institute A (d) SS5%
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The average number of students enrolled in institute @during
2014, 2016 and 2018 is what percent less than the number of

W
/students enrolled in institute B during 2017 (correct to two
decimal places)?

2014, 2016 3T 2018 & SN WA A W ATHifera BTET & 3G W& 2017 & SN
e B ® wifera ot it 9@ ¥ feae ufava &0 (3 21 S9med = 96 ) ©72
SSC CGL 2020
(a) 22.46%
(b) 29.17%

\(c}26.15%

(d) 32.75%
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The following Bar Graphs represent the Export of Tea (in lakh

tonnes) by two companies A and B during the years 2010 to 2015.
e A ww, = wufa A i B T @9 2010 § 2015 W =@ & Faiw @& (s 2= o)

frefua tar 21 X- o190 a1 & fefua wtar £ oiie Y-a1er fata &t 18 =3 &t 96 (o 29
%) @ Frefua & 2

Study the chart and answer the question written below:

e T T e AN I @9 fqu 7w yym @ I <)



WA AMATHSEO S A r s eam 8Y ADITYA RANJAN SIR

(Note : The data shown below is only for mathematical exercise.
They do not represent the actual figures).

(a‘rzﬁmw &Hael MU TEE & AU g1 9 ®HuiAal & anaiae
Mgl wi Frefua & & 1)
Export of Tea (in lakh tonnes) by two companies A and B during

2010 to 2015

2010 2011 2012 2013 2014 2015

300

250

:

#Company A
# Company B

Export of tea (in lakh tonnes)
§ @
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w
(=}

o



10. What is the ratio of the total exports of company B in 2011 and
2014 to the total exports of company A in 2012 and 2015?

2011 30T 2014 ® wut B & e faia &1 2012 30T 2015 ¥ wudt A &
& i | Ut J1| &

N
o
o

Export of tea (in lakh tonnes)
—_ —_
8 o
o

o
o

o

300
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I i
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240
200 E ]
180

160

1so|

2015

TS M40
55 68

# Company A
® Company B

SSC CGL 2020

\(a)}55 : 68

(b) 29 : 37
(c) 68 : 55
(d) 37 : 29
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The following Bar Graph represents the Production of Fertilizers by
Company A and Company B (in 10000 tonnes) Over the Years from

2015 to 2010. The X-axis represents the years, and the Y-axis
represents the Production of Fertilizers (in 10000 tonnes).

freifera o e &1 3reIET W 3T 3®e a9 faU v uyw & 3w 12

S WE, oAt A i &HuT B §RT 2005 ¥ 2010 @k Iaichl o SATET ol
(10000 29 ® Tawfua &tar 21 X 317 a6t ot fawfua &tar £ o Y a1
JaTah! @ IS ( 10000 29 H ) o f&fua &ar 2
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(Note : The data shown below is only for mathematical exercise.
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They do not represent the actual figures of the companies)

(sre: faar mar 227 daw nfurda e & oo 81 9 wufa & arafas ouest = Fefua

T&l & 21)

FTATE FT FATEA (10000 Z3 °)
- 2888828388

- &

2005 | 2010 FF FTAT AT FUAT B FOT FTATET FT ITATIA (10000 T ° )

720
650270

290 s A

"Fuft B

2005 2006 2007 2008 2009 2010
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11. What is the average production (in 10000 tonnes) of fertilizer
in 2008, 2009 and 2010 of Company A?

2008, 2009 31T 2010 W, U+t A & IdTahl T 3Ed IAET ( 10000 =H
o) FATE H

FATEHN FT IATZF (10000 73 ° )

800

28 3
s 8 3

3 8 8 8

o

2005 | 2010 & FUAT AT FUHAT B ZT FATET FT FTATEA (10000 Z9 o)

|

2005 2006 2007 2008 2009 2010

SSC CGL 2020
(a) 590
(b) 600
(c) 620
(d) 570
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The following bar graph shows the demand and production (in
Lakhs) of motor cycles of five different companies A, B, C, D and E

in 2020.

frr aw w2020 ¥ A, B, C, D 3t E uwiwr fafi= =wufm=i =t dex

qrsferenl ot |/ 3T IS Sl (> o ) I9iar
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What is the ratio of total production of motor cycles of
companies A, B, C, D and E, to that of the total demand of

ATHSEGLLS AT

govt. exams
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motor cycles of all the companies during the five years?

Fuit A, B, C, D 3t E & Wizt ufecl & & SqEq i oiw af & S gt

&ufal & |reT |sfaneti st &et W & 37T Ad i
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The following bar graph shows the amount (in Lakh Rs.) invested by
a Company in purchasing raw material over the years and the values

(in Lakh Rs.) of finished goods sold by the Company over the years
e & ww aut o fedt Fue g e e @ @iie § fafte o (sea e e o) e aut

o HUH GRT & M 99R WA & godi (B IS o ° ) i gvriar g

700

h§ .h§ § g

2015 2016 2017

» Amount Invested m Sales of finished goods




13. The ratio of total amount invested for purchasing raw material

from 2013 to 2015 to the total sales of finished goods in 2014,
2016 and 2017 is:

2013 | 2015 &% THedl WA i @ig & fou Fafe e afer 3w 2014, 2016 3T 2017
H TR WA w /el (aghl @ U Fd Hi

700 SSC CGL 2020
(a) 56 : 27
(b) 64 : 37

\Ue] 37 : 64

(d) 27 : 56

l|§ .h§ § §

2012 2013 2014 2015 2016 2017

= Amount Invested = Sales of finished goods
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The bar graph given below shows the sales of Newspapers (in lakh
number) from six branches of a Media Publication Company during

two consecutive years 2017 and 2018.
Frer faar mar A wE 2017 3T 2018 = wENE I¥ & IR fedr difsar ywvm su @ 8

yrETs | WHTE At ot faset @ (Sl st e °§) 9rar g1 (A ;o Srer SuriEr & ar 22
wHael MU EH & fou 81 9 arafas anws! &t Hefug 8 &1 )

Sales of Newspapers (in thousand numbers) from Six Branches - P, Q,
R, S T and U of a Media Publishing Company in 2017 and 2018

125 130
115 115
105 100
90 95
85 85 83 80
m2017
m2018
P Q R S T U

Branches

Sales of Books (In thousands numbers)
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14. Total Sales of U for both the years is what percent (correct to

Sales of Books (In thousands numbers)

one place of decimal) of the combined Sales of the branches Q
and R for 2017 and 20187

art ad o ymar U &t & fast 2017 3w 2018 ® vmar Q 3w R =it wgaa fagwt =r
fara wfavEm 27 (St U v =9 9% )

125 130
115 115
105
85 85 85
P Q R S T

Branches

SSC CGL 2020
(a) 41.0%
(b) 48.6%

100_
80 (c) 67.1%
w2017 (d) 44.4%
| m2018
U
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Direction (15-17): Study the given graph and answer the question

that follows.

feifara Trw &1 e & 3T 3@k are fEu U weR & 3= S

Number of motorcycles (in hundreds) sold by
dealers A, B, C, D and E during 2019 and 2020

500
400 360 350

300
225 750

200 —181
0

= 2019 =2020




15. The percentage increase in the sale of motorcycles in 2020 as
compared to that in 2019 is below 15% for the dealer:

e ... & T 2020 ¥ Arevagtae =t famt & g8 wiava gfg 2019 &t gorn o

15% | 7 B
Selection Post - Phase IX (08 Feb 2022)
Number of motorcycles (in hundreds) sold by (a) A
dealers A, B, C, D and E during 2019 and 2020 (b) D
500 \IsE
400 60— 200 2= (d) B

il

®2019 =2020



16. The number of motorcycles sold by dealer D in 2020 is what percentage
more than the number of motorcycles sold by dealer C in 2019 ?

2020 ¥ e D ERT o S WieTHEiehell shif §&AT 2019 H Soiw C gRT o=t 8
HretaEfeedl & 9@ 9 feaa ufava aifaes 272
Selection Post - Phase IX (09 Feb 2022)

Number of motorcycles (in hundreds) sold by ‘36ﬁ QS }4 (a) 48:/0
dealers A, B, C, D and E during 2019 and 2020 \ P 34%
- u  (c) 30.5%
400 P, . 400 -LLZ Xty (d) 33.3%
300 _
00 00 240 225 =Ly,

200
100

200

180

m2019

200

C
= 2020

D




-2/ = 14297
X1007. = 4=



17. The average number of motorcycles sold by dealers B and D in 2019 is what

percentage less t the average number of motorcycles so y dealers A, C
and E in 2020 (correct to one decimal place)?

2019 ® Ererw B 3w D grv &=t 78 wrevarsfeel st oftaa W@, 2020 ¥ gew A, C 3t E g
it 8 HreTaEfEal @t 3irga ge 9 e ufave w9 € (IveE & U T a9 9t )?
Selection Post - Phase IX (10 Feb 2022)

Number of motorcycles (in hundreds) sold by . & X100/ (a) 11.10%
dealers A, B, C, D and E during 2019 and 2020 | S8¢ (b) 14.8%
— 91 14.3%

(d) 18.1%

300 250

200 2°° 180 4

- itiiiil
0

w2019 ®=2020
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Direction (18-20): Study the given graph and answer the question
that follows.
frenifera T @1 arsmae & 3R SHe @e feu U wyw @1 S 2

Import and Export of country ABC from
2015 to 2019 (in Rs crores)

320
I280

2015 2016 2017 2018 2019
®Imports mExports
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18. The average exports of country ABC in 2015,2017 and 2018 are
what percentage of the total imports from 2015 to 2018 (correct
to one decimal place)?

2015, 2017 3T 2018 ¥ 291 ABC T 3itaa faia, 2015 ¥ 2018 @& & o
N T Tehaem wfavra € (SyWea & U T aa Wl )?
Selection Post - Phase IX (08 Feb 2022)

Import and Export of country ABC from
2015 to 2019 (in Rs crores) (a, 20-6:%
500 (b) 22.8%
400 (c) 22.1%
o 540 0 (d) 24.4%
300 540 250 <30 8

0
2015 2016 2017 2018 2019
#Imports mExports



19. In 2020, if the imports increased from 2019 by the same

percentage as in 2019 over its previous year, then what were the
amount of imports (in Rs crores) in 2020?

2020 ©, afg 2019 & T ¥ 3mAE ® afg 2019 ° fusel ad &t o= & 9uE
wfaera gfig &2, @ 2020 ¥ maTa =t AHT (TUS F3 H) F4@T A

Selection Post - Phase IX (09 Feb 2022)
Import and Export of country AB_ from S

10t/ (a) 450

2015 to 2019 (in Rs crores)
500 - -%;.. \b) 500
pr T 9g, (c) 420

(d) 480

325
' SQQ.Y\"ZS/
| | o7 < Soy

2015 2016 2017 2018 2019
® Imports mExports
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20. The exports of country ABC in 2019 are what percentage more
than its imports in 2017 ?
2019 ® 391 ABC @1 faia, 2017 # 36a 3maE § foa wiavm aifies 272

Selection Post - Phase IX (10 Feb 2022)

(a) 40%
Import and Export of country ABC from ;23/ 25({ (b) 28%
2015 to 2019 (in Rs crores) 13 ; (c) 12%
500 &/ \19/300/0
400
300 %ﬁ'%'/,
200 180550 220 =307,

0

2015 2016 2017 2018 2019
®Imports mExports
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Direction (21-23): Study the given graph and answer the question
that follows.
freifena org =mel o1 3T WY 31K SHa g fau v wys & 3w S|

Production of fertilisers by countries X, Y and
Z from 2016 to 2020 (in million tonnes

420
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e 285 i
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e
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Production of fertilisers by countries X, Y and
Z from 2016 to 2020 (in million tonnes
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240
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21. The total production of fertilizers by country Y in 2017 and
2019 and by country X in 2016 is what percentage of the total

production of fertilizers by country Z in 2016, 2018 an 20?
2017 3ﬁrzo1mm3§1ﬁwa@maﬂrzow?§wxv&ﬁd§?ﬂpm

2016, 2018 31T 2020 W YT Z GNT I&Th! o Hel ST ol fehaT wiavra 272
SSC CGL MAINS 2020

Production of fertilisers by countries X, Yand | (a) 77%
Z from 2016 to 2020 (in million tonnes 218 J—IOQ' 5 \WO%
(c) 69%

— 420
so S goael L (d) 60%
ETE k. B [ % P
X
j oy
. "z

2017 2018 2019 2020
Year
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22. What is the, total production of fertilisers by country X in 2017 and
country Y in 2020 to the production of fertilisers by country Z in 2019?
2017ﬁ'2mX3ﬁT2ozoﬁé‘ngm3ém‘ra;ra§ammzo19ﬁ€mngad1ﬁ%

IATEA it qor | feRaer 87
SSC CGL MAINS 2020
Production of fertilisers by countries X, Y and /9{ FS 2 (a) 19 : 12
Z from 2016 to 2020 (in million tonnes 2 ?S (by3: 2
e (c) 27 : 20
(d)4:3

-

7]

=

z 2016 2017 2018 2019 2020
Year
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23. The average production of fertilisers by country Z in 2017, 2018
and 2020 is what percentage more than the average production

of fertilisers by country X in 2018 and 20207?
2017, 2018 31T 2020 W 39T Z EIT IaATah! hl {THd IATEH, 2018 31T 2020 ¥ 397 X BT

IaTah! & TEd Ay ¥ famaar ufave sifas €7

SSC CGL MAINS 2020

Production of fertilisers by countries X, Y and &
Z from 2016 to 2020 (in million tonnes . \Ja] 48 /oo

@ 450 420 (b) 32.4%
g 400 1 (c) 49.6%
8350 - t
g 300 - (d) 45%
% 250

200
§ 100 -

2016 2017 2018 2019 2020
Year
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Direction (24-26):Study the given graph and answer the question that
follows.

frerifera w1 rsmEs WY 3T SEe @e fau w wvw @ 3= 2

Production (in million tonnes) of cement by
company A, B and C during 2015 to 2019

Production in million tonnes

2015 2016 2017 2018 2019
Year
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24. In 2020, the production of cement by company C increased by the same
percentage as in 2019, over its previous year. The production (in million
tonnes) of cement by company C in 2020 (correct to one decimal place)
was:

&ut C gRr 2020 ® e & IS o Sa+t & wiave gfg = 13 faat fuser ad &t qorn
4 2019 ¥ @t WE o 2020 ¥ wut C grv fevar war dide & sarew ((fufeas 2= o, SvmeE
& Ush T a9 wet) ferasm ar?

Production (in million tonnes) of cement by
company A, B and C during 2015 to 2019 SSC CGL MAINS 2020

g 450 (a) 454.6
- (b) 455.8

& 300 \[c}457.1

= 250 - | 200 | B mA (d) 452.4

a 200 - u | |

g 150 - j | ' =B

o &

3 50 . ’

§ -- —

E 2015 2016 2017 2018 2019

Year
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25. The ratio of the production of cement by company A is 2016 and
company C in 2018 to the total production of cement by company
B in 2017 and 2019 is:
Fut A grr 2016 ¥ 34w =yt C grr 2018 # fopw 7w diie ¥ wer S@rET @1, wuA
B g 2017 i 2019 # oy Ty Hive & FHe IwET ¥ FUE fwa 87
SSC CGL MAINS 2020
Production (in million tonnes) of cement by %Sd "‘}6 }b \jﬂf 9:8

company A, B and C during 2015 to 2019 q (b) 7:6
450 - 1
2 400 1 S (c)8:7
O 350 = - i ' (d’ 10 . 9
300
250 -
200 - A
150 - uB
| uC

2015 2016 2017 2018 2019
Year
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26. The average production of cement by company B in 2015, 2016
and 2018 is what percentage less than the average production of

cement by company C in 2015 and 2017.
ot B grr 2015, 2016 3w 2018 foar mar dz &1 ima 3aeEw, set C grr 2015 3w

2017 ¥ feu v d@iMz & 3ia Iaee | feat ufavm & 272 -
% N SC CGL MAINS 2020

Production (in million tonnes) of cement by
company A, B and C during 2015 to 2019 Uso

2015 2016 2017 2018 2019



